R4 F28AAREFERNRTYNR—ILEFTAKRE F—LA 1Q|2Q|3Q|4Q |EE| &F
2 A H30.2.10 = 15 BEE K HENe. | RBR & | 32| 25) 30| 28 115
¥ F| MERX | Bl F | 4 BA D5 | ¥ F & [11[23]19]10 63 B B B B —— {8 ——FHK
HRBEXRESFER(ER) 140
a—F E=&F BT A-o—F X ERF TR r—
. = 3K A4 >+ 2 K A4 >k Jy—z20— | 2| yNHUR
RFEENE|BR gy Tae | Ao | 88 | &9 | #8 | 2 [oF[oF|anf 120
=i BT 4 27 0 1 10 13 7 12 1] 9| 5| 14 4 115
FE LhC 5 / 112
®OEE 6 12 0 0 5 11 2 2 21 5[ 14] 19 106
HOEE 7 31 1 6 12 17 4 7 1] 3] s 9 o8 100
BHEA XEF | 8 17 2 6 5 15 1 2 | 3] 4] 4] 8 /9;
INERES 9 9 0 0 4 7 1 2 0 3 2 5 /8;
=E B 10 0 0 5 0 0 0 0 3| o] 2 2 /Mﬁ
£H B 11 2 0 2 1 1 0 0 1 1] 1 2 T8 80
MO B4 12 5 1 4 1 2 0 0 1] o] 2 2 A
B FK 13 /
EH ¥ 14 2 0 0 1 [ 0 0o | 1] o] o] o A 684 > 63
BEE WwH- | 15 8 0 1 4 4 0 0 o o] 1 1 57 7
S 16 4 /._59,53"5‘3
NE RE 17 2 0 0 i 1 0 0 | o] o] o] o /\/4? 47
‘d{‘ 42 41 40
F — L 0 2 2 4 3 34"58
& & 115 4 25 44 72 15 25 | 13| 27| 39| e6 / 32 / 30
e " ; - 26
PRES 16.0% 61.1% 60.0% //2; 2 "
4 = =X 22, 4L /15 45/18
BIYFHERRLFEEERHHKR) 4 11
a—F TB& - Aa—F EH &b RErTv— IR BX -
] B - - 3R AV | 2R A2 F ]| 72U—28— 2] UnNHUE 0 0
E OF 4 E; 8 5 . — . e 5 =% | 7 [oF[oF |2 0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40%)
ETE D 4 10 1 5 1 5 5 5 5] 1] 2 3
RE X2 5 23 4 14 5 7 1 2 4] o] 5] 5 M 0
=8 BEE 6 6 0 0 3 15 0 0 4] 4| 9| 13 % R
NI EBF | 7 17 2 10 4 8 3 4 5/ 3] o 3 1QFERL/N—TDIA—IIVY—IVTAITIV AR, A —ILa—bY—I T o
I HFhE 8 0 0 4 0 0 0 0 1| o] o 0 TJIVATAY., HER A REGOHK. FHE@FEAEMN L 1—rERO . BE-. D
A B 9 2 0 0 1 4 0 0 3 1| 1 2 B REQEDRSAT(Y. D=1F. OMRDAU Y AREETI1-82THE T, 2Q
=3 10 REIEA AR TOBRANMEV., FhEBIRA UM 21— TIHET 54, 34—5
FiE EX 11 0 0 1 0 0 0 0 ol o] o 0 7. EIEBEESTRIEER T . 3QBETRZ F5LTEHFHLEMN, T7IILHBNEHS
e HF 12 FELTATURDBEBELIE LY, AN IEEH ST 53—87, lfE34H—FTKRT. 4
meE REF | 13 QANEEDLLLENVEFEI—115THER T . ENLERBCEBEED -, Rk
HHE BE 14 5 0 0 2 4 1 2 3] 2| s 7 FTCENTH -FHRRICHEBEZERZL,
KH Ef 15
N BEZE | 16
Hig {Z% 17
=l 18
F — L ol 1] 4 5
& B 63 7 34 16 43 10 13 | 25| 12| 26| 38 = PR
EES 20.6% 37.2% 76.9% REAE  HE B




